SALES ORDER FORM

AD AG AD CIT ZIP CO CO DE Ag	VEFENCE DRI TY: SCIENCE Ence	ESS: ACT: RACT RIPTIO y Prod	R NAME: ME	Sass Equal V	STAR VO	(51) ST: (734)5	43 0R 60-	2930		REP	NAMI	х	KM KKI KEI Hea	JG# ather	DE	anse	n Elec Star	SALE POL troni- idard endar	S TYPE ITICAL Billing or EOS	3 4 X
															<u> </u>	^_	EU		_	
		SPOT	FLIGHT	DATES	MILITAR	RY TIME		PRIO	ALT	wks	ROT			DAYS	OF	WEEK	(то	TAL
s	N	RATE	FROM	THRU	FROM	то	LTH	RITY	IN	OUT	SPTS	M	Т	W	Т	F	ş	SU	SPOT	\$
4		\$20	5/18	5/19	600	1900	30				20						10	10	20	\$400
																	_			
4		\$34	5/20	5/20	600	1900	30				10	10					_		10	\$340
4		\$34	5/21	5/21	600	1200	30			_	5		5				-		5	\$170
Ц											-		_				-			2=00
3	_	\$36	5/18	5/19	600	1900	30	-	_	-	20		-		-		10	10	20	\$720
	_	Φ.Ε.Ο.	F (0.0	E /00	000	4000	20			-	10	10	\vdash				-		10	\$580
3	-	\$58	5/20 5/21	5/20 5/21	600	1900 1200	30		-		5	10	5				-		5	\$305
3	-	\$61	5/21	3/21	000	1200	30				3		-							φοσο
1		\$20	5/18	5/19	600	1900	30				20						10	10	20	\$400
П		ΨĽŪ	0,10	0,10																
1		\$34	5/20	5/20	600	1900	30				10	10							10	\$340
1		\$34	5/21	5/21	600	1200	30				5		5						5	\$170
																	_			\$0
													L				_			
										_							-			
H										-	-						-	-		
.								-			-		\vdash				-			\$0
Н	_			-	_	_				-	-						-	-		\$0
Н																				\$0
+			_		_															\$0
-	_									4	-									
													OR	DER	TOT	ALS			105	\$3,425
		McKe	INSTRU enzie River ED AND	Broadcast practice	ting Compa s. Any ord	any, Inc de er or adve	oes not rtising o	discrimi content t	nate on hat wo	the bas	ılt in an	y suc	h disc	y, gen rimina	der or tion w	natio	nal ori be ac	gin in a cepted	,	dvertising

REQUEST FOR THE PURCHASE OF TIME FOR POLITICAL BROADCASTS

Station(s) & Location: KKNU Eugene,Oregon KMGE KEUG	Date of Request: 5/17/24
Candidate(s) & Office(s) (if Applicable):	Relevant Election(s) and/or Nature of National issue(s): Star Voting (Equal Voting)
If Candidate Buy, Name of Authorized Commit	
Name of Purchaser and Name, Address and Pho	one Number of Purchaser's Contact Person:
Star Voting Committee	
Weeks, Rotation/Package: Flight dates 5/18-5/21/24 KKNU. KMGE M 6a-7p total 10 spots. Tu 6a-12p. total 5 spots. Tu 6a-12p. total 5 spots.	
Disclosure: If candidate request, has candidate YES DATE: NO	BEEN SENT this station's Political Disclosure Statement?
Disposition of request for time: AC	CCEPTEDX REJECTED
ACCEPTED WITH MODIFICATION - s	ee Attached confirmation
• If the request is for a federal candidate, attach	an executed "Federal Candidate Certification" form.
If a non-federal candidate, attach an executed '	'Non-federal Candidate Certification" form.
• If the request is by a non-candidate, attach an form.	executed "Third party/Issue Advertising Certification"
Name of Person Taking Request.:Heather Jo	hansen

This station does not discriminate on the basis of race or ethnicity in any of its advertising practices.

McKenzie River Broadcasting Co Inc.

925 Country Club Rd

Ste 200

Eugene, OR 97401 541-484-9400

Order #:

4664-00002

Description: Date Entered: RADIO ADS 5/17/2024

P.O.#:

Salesperson:

Johansen, Heather

Invoice Frequency: Billed at end of EOS, Sorted by Date

Phone/Fax:

734-560-2932

STAR VOTING FOR EUGENE ELECTIONS

Attn: SASS PO BOX 51243 EUGENE, OR 97405 Statement Group:

McKenzie River Broadcasting Co Inc.

Receivables Group:

A/R Cash

Sales Commission:

Sales Commission

A/R Account:

A/R Cash 1 KMGE

Order Discount:

<None> <None>

Agency Discount: Default Primary Product Code: Political

Secondary Product Code:

<unassigned>

Total

M

Last Modified: 5/17/2024

Modified 1 times

Length

Oty

OrderType:

Per Spot

Rate

On-Air Schedule

	Start Date	End Date	Station	Scheduled Time/Event	Repeated	Length	Oty	Rate	Total	<u>M</u>	<u>1 u</u> 0	<u>w</u>	1 <u>n</u>	<u>F</u>	<u>Sa</u>	<u>Su</u> 10	
1	5/18/2024	5/19/2024	KMGE-FM	06:00:00a to 07:00:00p	Weekly	:30	20	20.00	400.00	U	U	U	U	v	10	10	
	Inc. Acct: Spot Type:			Sales Comm: X Adv. Sep: X ription: Copy)	Agency Discoul Prod Sep: X	nt:		Discount: ty: 175	Prod	d: Pol	litical						
2	5/20/2024	5/20/2024	KMGE-FM	06:00:00a to 07:00:00p	Weekly	:30	10	34.00	340.00	10	0	0	0	0	0	0	
	Inc. Acct: Spot Type:			Sales Comm: X Adv. Sep: X ription: Copy)	Agency Discour Prod Sep: X	nt:		Discount: ty: 175	Prod	d: Po	litical						
3	5/21/2024	5/21/2024	KMGE-FM	06:00:00a to 12:00:00p	Weekly	:30	5	34.00	170.00	0	5	0	0	0	0	0	

Repeated

Description:

Sales Comm: X Adv. Sep: X

Agency Discount:

Order Discount:

\$910.00

Prod Sep: X

Priority: 175

Prod: Political

Tu W Th F Sa Su

Spot Type: _None **Copy Plan: 4664-00002/3/4(No Valid Copy)

Station Totals:

Station

Avail:

Spot Count

May

Net Billing

KMGE-FM Order Start Date: 5/18/2024

General

Inc. Acct: Political Loc Cash

35

\$910.00

Spots: 35 Order End Date: 5/21/2024

Total Charges:

\$910.00

McKenzie River Broadcasting Co. Inc. does not discriminate on the basis of race, ethnicity, gender or national origin in any of its advertising practices. Any order or advertising content that would result in any such discrimination will not be accepted.

35

Projected End-Of-Schedule Billing Totals for STAR	VOTING FOR	R EUGENE ELECTIONS / 4664-00002 :	
Spot Co.		Net Billin	

Confirmed & Accepted for McKenzie River Broadcasting Co Inc. By:

2024

Accepted for STAR VOTING FOR EUGENE ELECTIONS By:

McKenzie River Broadcasting Co Inc.

925 Country Club Rd

Ste 200

Eugene, OR 97401 541-484-9400

Order #:

4664-00003

Description: Date Entered: RADIO ADS 5/17/2024

P.O.#:

Salesperson:

Johansen, Heather

Invoice Frequency: Billed at end of EOS, Sorted by Date

Phone/Fax:

734-560-2932

STAR VOTING FOR EUGENE ELECTIONS

Attn: SASS PO BOX 51243 EUGENE, OR 97405 Statement Group:

McKenzie River Broadcasting Co Inc.

Receivables Group:

A/R Cash

Sales Commission:

Sales Commission

A/R Account:

A/R Cash 3 KKNU

Order Discount:

<None>

Agency Discount: Default Primary Product Code: Political

<None>

Secondary Product Code:

<unassigned>

Last Modified: 5/17/2024

Modified 1 times

OrderType:

Per Spot

On-Air Schedule

	Start Date	End Date	Station	Scheduled Time/Event	Repeated	Length	Oty	Rate	Total	M	Tu	$\underline{\mathbf{W}}$	<u>Th</u>	E	<u>Sa</u>	<u>Su</u>
1	5/18/2024	5/19/2024	KKNU-FM	06:00:00a to 07:00:00p	Weekly	:30	20	36.00	720.00	0	0	0	0	0	10	10
	Inc. Acct: Spot Type:	_	Cash Descri 2/3/4(No Valid Co	•	Agency Discou Prod Sep: X	ınt:		Discount: y; 175	Proc	l: Po	litical					
2	5/20/2024	5/20/2024	KKNU-FM	06:00:00a to 07:00:00p	Weekly	:30	10	58.00	580.00	10	0	0	0	0	0	0
	Inc. Acct: Spot Type:	_	Cash Descri 2/3/4(No Valid Co	•	Agency Discou Prod Sep: X	ınt:		Discount: y: 175	Prod	i: Po	litical					
3	5/21/2024	5/21/2024	KKNU-FM	06:00:00a to 12:00:00p	Weekly	:30	5	61.00	305.00	0	5	0	0	0	0	0
	Avail: Inc. Acet:	General Political Loc C	Cash	Sales Comm: X Adv. Sep: X	Agency Discou Prod Sep: X	ınt:		Discount: y: 175	Proc	i: Po	litical					

Station Totals:

Station

Spot Count

**Copy Plan: 4664-00002/3/4(No Valid Copy)

Net Billing

Description:

KKNU-FM

Spot Type: _None

35 Order Start Date: 5/18/2024 \$1,605.00

Order End Date: 5/21/2024

Spots: 35

Total Charges:

\$1,605.00

McKenzie River Broadcasting Co. Inc. does not discriminate on the basis of race, ethnicity, gender or national origin in any of its advertising practices. Any order or advertising content that would result in any such discrimination will not be accepted.

Projected End-Of-Schedule Billing Totals for STAR VOTING FOR EUGENE ELECTIONS / 4664-00003 :

Spot Count

<u>Net Billing</u>

May

2024

35

\$1,605.00

Confirmed & Accepted for McKenzie River Broadcasting Co Inc. By:

Accepted for STAR VOTING FOR EUGENE ELECTIONS By:

Please Sign and Return One Copy

McKenzie River Broadcasting Co Inc.

925 Country Club Rd

Ste 200

Eugene, OR 97401 541-484-9400

Order #: 4664-00004 Description: RADIO ADS Date Entered: 5/17/2024

P.O.#:

Salesperson: Johansen, Heather

Invoice Frequency: Billed at end of EOS, Sorted by Date

Phone/Fax: 734-560-2932

STAR VOTING FOR EUGENE ELECTIONS

Attn: SASS PO BOX 51243 EUGENE, OR 97405 Statement Group:

McKenzie River Broadcasting Co Inc.

Receivables Group:

A/R Cash

Sales Commission:

Sales Commission

A/R Account:

A/R Cash 6 KEUG

Order Discount: Agency Discount: <None> <None>

Default Primary Product Code: Political

Secondary Product Code: Last Modified: 5/17/2024

<unassigned>

Modified 1 times

OrderType:

Per Spot

On-Air Schedule

												_		-		
	Start Date	End Date	Station	Scheduled Time/Event	Repeated	Length	Qtv	Rate	Total	\underline{M}	Tu	W	<u>Th</u>	<u>F</u>	<u>Sa</u>	<u>Su</u>
1	5/18/2024	5/19/2024	KEUG-FM	06:00:00a to 07:00:00p	Weekly	:30	20	20.00	400.00	0	0	0	0	0	10	10
	Avail: Inc. Acct: Spot Type: **Copy Pla	_		Sales Comm: X Adv. Sep: X cription: Copy)	Agency Discou Prod Sep: X	unt:		Discount: ty: 175	Pro	d; Po	olitical					
2	5/20/2024	5/20/2024	KEUG-FM	06:00:00a to 07:00:00p	Weekly	:30	10	34.00	340.00	10	0	0	0	0	0	0
	Avail: Inc. Acct: Spot Type: **Copy Pla	_		Sales Comm: X Adv. Sep: X cription: Copy)	Agency Discou Prod Sep: X	unt:		Discount: ty: 175	Pro	d: Po	olitical					
3	5/21/2024	5/21/2024	KEUG-FM	06:00:00a to 12:00:00p	Weekly	:30	5	34.00	170.00	0	5	0	0	0	0	0
	Avail: Inc. Acct:	General Political Loc (Cash	Sales Comm: X Adv. Sep: X	Agency Discou Prod Sep: X	unt:		Discount: ty: 175	Pro	d: Po	olitical					

Station Totals:

Spot Type: None

Net Billing Spot Count Station KEUG-FM 35

**Copy Plan: 4664-00002/3/4(No Valid Copy)

\$910.00

Description:

Order Start Date: 5/18/2024

Order End Date: 5/21/2024

Spots: 35

Total Charges:

\$910.00

McKenzie River Broadcasting Co. Inc. does not discriminate on the basis of race, ethnicity, gender or national origin in any of its advertising practices. Any order or advertising content that would result in any such discrimination will not be accepted.

Projected End-Of-Schedule Billing Totals for STAR VOTING FOR EUGENE ELECTIONS	4664-00004 :
---	--------------

Net Billing Spot Count \$910.00 35 May 2024

Confirmed & Accepted for McKenzie River Broadcasting Co Inc. By:

Accepted for STAR VOTING FOR EUGENE ELECTIONS By:

Please Sign and Return One Copy

McKenzie River Broadcasting Co Inc. 925 Country Club Rd Ste 200

Eugene, OR 97401 541-484-9400

Order #:

4664-00002

Description:

RADIO ADS

Date Entered:

5/17/2024

P.O.#:

Salesperson:

Johansen, Heather

Invoice Frequency: Billed at end of EOS, Sorted by Date Phone/Fax:

734-560-2932

STAR VOTING FOR EUGENE ELECTIONS Attn: SASS PO BOX 51243 EUGENE, OR 97405

On-Air Schedule

-	Start Date	End Date	Station	Scheduled Time/Event	Repeated	<u>Length</u>	Qty	Rate	Total	<u>M</u>	Tu	W	<u>Th</u>	F	<u>Sa</u>	Su
1	5/18/2024	5/19/2024	KMGE-FM	06:00:00a to 07:00:00p	Weekly	:30	20	20.00	400.00	0	0	0	0	0	10	10
2	5/20/2024	5/20/2024	KMGE-FM	06:00:00a to 07:00:00p	Weekly	:30	10	34.00	340.00	10	0	0	0	0	0	0
3	5/21/2024	5/21/2024	KMGE-FM.	06:00:00a to 12:00:00p	Weekly	:30	5	34.00	170.00	0	5	0	0	0	0	0

Order Start Date: 5/18/2024

Order End Date: 5/21/2024

Spots: 35

Total Charges:

\$910.00

McKenzie River Broadcasting Co. Inc. does not discriminate on the basis of race, ethnicity, gender or national origin in any of its advertising practices. Any order or advertising content that would result in any such discrimination will not be accepted.

Projected I	End-Of-Schedule Bill	ing Totals for STAR VOTING	FOR EUGENE ELECTIONS / 4664-00002 :	
		Spot Count	<u>Net Billing</u>	
May	2024	35	\$910.00	

Confirmed & Accepted for McKenzie River Broadcasting Co Inc. By:

Accepted for STAR VOTING FOR EUGENE ELECTIONS By:

Please Sign and Return One Copy

McKenzie River Broadcasting Co Inc. 925 Country Club Rd Ste 200

Eugene, OR 97401 541-484-9400 Order #:

4664-00003

Description: Date Entered: RADIO ADS 5/17/2024

P.O.#:

Salesperson:

Johansen, Heather

Invoice Frequency: Billed at end of EOS, Sorted by Date

Phone/Fax:

734-560-2932

STAR VOTING FOR EUGENE ELECTIONS Atm: SASS PO BOX 51243 EUGENE, OR 97405

On-Air Schedule

	Start Date	End Date	Station	Scheduled Time/Event	Repeated	Length	Qty	Rate	Total	M	Tu	W	<u>Th</u>	F	Sa	Su
1	5/18/2024	5/19/2024	KKNU-FM	06:00:00a to 07:00:00p	Weekly	:30	20	36.00	720.00	0	0	0	0	0	10	10
2	5/20/2024	5/20/2024	KKNU-FM	06:00:00a to 07:00:00p	Weekly	:30	10	58.00	580.00	10	0	0	0	0	0	0
3	5/21/2024	5/21/2024	KKNU-FM	06:00:00a to 12:00:00p	Weekly	:30	5	61.00	305.00	0	5	0	0	0	0	0

Order Start Date: 5/18/2024

Order End Date: 5/21/2024

Spots: 35

Total Charges:

\$1,605.00

McKenzie River Broadcasting Co. Inc. does not discriminate on the basis of race, ethnicity, gender or national origin in any of its advertising practices.

Any order or advertising content that would result in any such discrimination will not be accepted.

Projected	End-Of-Schedule Bil	ling Totals for STAR VOTING	G FOR EUGENE ELECTIONS / 4664-000
		S, ot Count	Net Billing
May	2024	35	\$1,605.00

Confirmed & Accepted for McKenzie River Broadcasting Co Inc. By:

Accepted for STAR VOTING FOR EUGENE ELECTIONS By:

McKenzie River Broadcasting Co Inc. 925 Country Club Rd Ste 200

Eugene, OR 97401 541-484-9400

Order #:

4664-00004

Description:

RADIO ADS

Date Entered:

5/17/2024

P.O.#:

Salesperson:

Johansen, Heather

Invoice Frequency: Billed at end of EOS, Sorted by Date Phone/Fax:

734-560-2932

STAR VOTING FOR EUGENE ELECTIONS Attn: SASS PO BOX 51243 EUGENE, OR 97405

On-Air Schedule

	Start Date	End Date	Station	Scheduled Time/Event	Repeated	Length	<u>Oty</u>	Rate	Total	M	<u>Tu</u>	W	<u>Th</u>	F	Sa	Su
1	5/18/2024	5/19/2024	KEUG-FM	06:00:00a to 07:00:00p	Weekly	:30	20	20.00	400.00	0	0	0	0	0	10	10
2	5/20/2024	5/20/2024	KEUG-FM	06:00:00a to 07:00:00p	Weekly	:30	10	34.00	340.00	10	0	0	0	0	0	0
3	5/21/2024	5/21/2024	KEUG-FM	06:00:00a to 12:00:00p	Weekly	:30	5	34.00	170.00	0	5	0	0	0	0	0

Order Start Date: 5/18/2024 **Total Charges:** Order End Date: 5/21/2024 Spots: 35

McKenzie River Broadcasting Co. Inc. does not discriminate on the basis of race, ethnicity, gender or national origin in any of its advertising practices. Any order or advertising content that would result in any such discrimination will not be accepted.

Projected End-Of-Schedule Billing Totals for STAR VOTING FOR EUGENE ELECTIONS / 4664-00004 :			
		Spot Count	Net Billing
May	2024	35	\$910.00

Confirmed & Accepted for McKenzie River Broadcasting Co Inc. By:

Accepted for STAR VOTING FOR EUGENE ELECTIONS By:

Please Sign and Return One Copy

\$910.00